7

==

R SRR BETMR2013

20134 &EHREt 1000 ERREBER, ERBEERERDER
A0 1,946,202 A (2E)
FEFPHEA 6 % 2.6% (5.2%)
EFFR— AL RiRE&RD D 0 % 0.0% (1.3%)
FEiR30-59m% BN DAR 1 % 3.7% (8.9%)
FRIEE(F) '09 10 | '11 '12 "13
e 236 247 228 194 228 100
AO10E3E= 116 122 115 99 17|
SRR R BRI 2L 95 98 77 73 109 ®
AC1053% 47 48 39 37 56| S
BIEEEX 40 45 108 77 78 5
AO103= 2.0 2.2 5.4 3.9 4.0 BREERER
v_~
A HEREDN - FEHHT, 20136 10
50 |
40 @
(1998 FE L)
30 VRIS IR RE
20
10 1 O O o
1962 70 80 90 2000 2013
~195% 20ft 30t 40t S0t 60t 7Ok 8o 90RE~
SO MBI PPZAZ IR I24& LA &
% ('ﬂ:‘yﬁﬂb * Z:EHB/%<¢)
100
% FEREERIS R R DEN 3 M AEEIE . O . " .|
40 (SRR 1) " a~s2a . . 525
34.7 — 75.8
30 o TN 63— 094
20 19.4 .
~ 153 40
10 '09 10 11 12 13
| ] | ]
0 = b b AT o SR
09 10 ) 1y s RIEE R E OSBRI TRE S
350 B FitE R e A BT AR ol
300 DA RREAR |
100" eI TR S 5o @ 267 == 276 i 272 i 260 —X_ |
™ - - M LI ﬁ 239
80 S8 A= 866 200 " = = =
- 74.0 —4# 76.2 150 AR
100 95 92
60 50 ? > :E =" =1 2
[ ] [ |
0
40 '08 '09 '10 11 12
'09 '10 11 12 13
100% %ﬁaﬁﬂﬂﬁ*’rﬁlﬂiﬁ%ﬁa‘ftiﬁﬂﬁ (ﬂﬁ‘li/l%’li) ilJA 0. N 12" col o -
947—*918 4901—0894
80 S~~~ 523
—
60 75%
40
20
'09 '10 11 12 13
50%
100 % %ﬁﬁ‘ﬁiﬂfﬁ?ﬁﬁffﬁiﬁﬁﬂ%ﬁqjﬁﬁﬂli“eﬁ'l%%%lbE'J@
L L] L]
sl A
70.5 71.4 %\* 57
& 503 59 25% [l ag | |2 [ 1s2 | |51 ] [ 2] |7 []
50
25
0
' ' f ' ' 0%
09 10 11 12 13 7,604 112 85 84 67 67
2E 2008 2009 2010 2011 2012
—— n RREEM —x— 2EH O BT Ofki mhEt oEd Q288 OHEREE
"09 10 11 12 13 "09 10 11 12 13
t REDOENIERAHE(%) 28.3 34.5 47.8 32.1 38.6 + LRI - TBA(%) 2.4 1.3 2.9 0.8 3.1



